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Name the band in the electromagnetic spectrum used in satellite

communication systems.
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Attenuation occurs in fibre-optic cables.

‘Name ONE type of attenuation and cutline the reason for this signal loss.
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Outine TWO foms of moltiplexing used
systes.
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Which form of the AC to DC rectification process is showa by the graphs?
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A smart-phone transmits digital information. One step in this process is to
convert analogue voice data to digitised data.
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Analogue signal Digitised signal

Outline how an analogue signal s digitised using sampling and quantising.

SAMPLING - Takes discrete values from the analogue signal at sufficient intervals to

accurately mirror the original signal

QUANTISIING — Application of a continuous range of values to each sample.
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‘The feedback loop in  control system allows comparison of:
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Ina MISO system:
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the output i a function of multile inputs
the autput i a function of only one input
he outputis independent ofthe inputs
cannct tell from the information given.
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Inan analogue control systems
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Digital control systems:
3 are built by the Digital Corporation

b arc used to control the Digital Corporation
©  havea fnite number of inputs and outputs
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Pole slipping in a synchronous machine results from:
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insufficient motor torque to match the given load
100 tmiach motor torque for the given load

to0 mich grease on the motor shaft

incorrect meshing of polymer gears
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An induction motor:
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An induction motor connected directly to the mains supply.
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notrun at all
runata fixed speed

run ata speed determined by the sze and nature o the load
cause a short circuit and catch fire.
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PWM is an abbreviation of:
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perfectly wound motor
perfect width motor
pulse width modulation

precisely weightod magnets.
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“The principal use of PWM in control systems s to:
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emulatc analogae control using switching devices
blind people with fickering lghts

feature lectrc motors in cinematography
confuse Engincering Studies students
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Various systems within a race car can cause interference (0 radio SIERES. =

Identify ONE source of interference and explain why an FM signal is
relatively immune to this form of interference.
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